

$$D_2 + \omega_2 = \frac{(\hbar + \omega) \mathbf{z} 1_R}{(\varphi + \varepsilon) \Gamma \mathbf{z} e} \Big| \frac{\varkappa \Gamma(\varphi + \varepsilon)^* \mathbf{z} e^*}{(\hbar + \omega/2 + \Omega_0) \mathbf{z} 1_L}$$

$$\begin{aligned} 4\mathcal{L}(\omega_2; \psi_2) &= 2\psi_2 \mathfrak{R} i (D_2 + \omega_2) \psi_2 = \psi_2 \mathfrak{R} i (D_2 + \omega_2) \psi_2 + \psi_2 \mathfrak{R} i (D_2 + \omega_2) \psi_2 \\ &= \psi_2 \mathfrak{R} i \underbrace{D_2 + \omega_2} \psi_2 + i \underbrace{D_2 + \omega_2} \psi_2 \mathfrak{R} \psi_2 = i \left(\psi_2 \mathfrak{R} \underbrace{D_2 + \omega_2} \psi_2 - \underbrace{D_2 + \omega_2} \psi_2 \mathfrak{R} \psi_2 \right) \end{aligned}$$

$$\psi_2 \mathfrak{R} \psi'_2 = \psi_2^* \gamma^0 \psi'_2 = \psi_2^* \frac{0}{1} \Big| \frac{1}{0} \mathbf{z} \psi'_2$$

$$\mathfrak{R} i \begin{bmatrix} \psi \mathbf{z} e_R \\ \Psi \mathbf{z} \ell_L \end{bmatrix} \mathfrak{R} (D_2 + \omega_2) \begin{bmatrix} \psi \mathbf{z} e_R \\ \Psi \mathbf{z} \ell_L \end{bmatrix} =$$

$$2\mathfrak{R} i \Psi \mathfrak{R} \underbrace{\varphi + \varepsilon \Gamma \psi \ell_L^* e e_R} + \psi \mathfrak{R} \underbrace{\hbar + \omega} \psi e_R^* e_R + \Psi \mathfrak{R} \underbrace{\hbar + \omega/2 + \Omega_0} \Psi \ell_L^* \ell_L$$

$$\text{LHS} = \mathfrak{R} i \begin{bmatrix} \psi \mathbf{z} e_R \\ \Psi \mathbf{z} \ell_L \end{bmatrix} \mathfrak{R} \begin{bmatrix} \underbrace{\hbar + \omega} \psi \mathbf{z} e_R + \varkappa \Gamma \overline{\varphi + \varepsilon}^* \Psi \mathbf{z} e^* \ell_L \\ \underbrace{\varphi + \varepsilon \Gamma \psi \mathbf{z} e e_R} + \underbrace{\hbar + \omega/2 + \Omega_0} \Psi \mathbf{z} \ell_L \end{bmatrix}$$

$$= \mathfrak{R} i \left(\psi \mathfrak{R} \underbrace{\hbar + \omega} \psi e_R^* e_R + \varkappa \psi \mathfrak{R} \Gamma \overline{\varphi + \varepsilon}^* \Psi e_R^* e^* \ell_L + \Psi \mathfrak{R} \underbrace{\varphi + \varepsilon \Gamma \psi \ell_L^* e e_R} + \Psi \mathfrak{R} \underbrace{\hbar + \omega/2 + \Omega_0} \Psi \ell_L^* \ell_L \right) = \text{RHS}$$

$$\hbar^* = -\hbar: \quad \omega^* = \bar{\omega} = -\omega: \quad \Omega_0^* = \Omega_0^* = -\Omega_0: \quad \Gamma^* = -\varkappa \Gamma$$

$$\frac{0}{-A^*} \Big| \frac{A}{0} \begin{bmatrix} \psi \\ 0 \end{bmatrix} \mathfrak{R} \begin{bmatrix} \psi \\ 0 \end{bmatrix} = \begin{bmatrix} 0 \\ -A^* \psi \end{bmatrix} \mathfrak{R} \frac{0}{1} \Big| \frac{1}{0} \begin{bmatrix} \psi \\ 0 \end{bmatrix} = \begin{bmatrix} 0 \\ -A^* \psi \end{bmatrix} \mathfrak{R} \begin{bmatrix} 0 \\ \psi \end{bmatrix} = -A^* \psi \mathfrak{R} \psi$$

$$\frac{0}{-A^*} \Big| \frac{A}{0} \begin{bmatrix} 0 \\ \Psi \end{bmatrix} \mathfrak{R} \begin{bmatrix} 0 \\ \Psi \end{bmatrix} = \begin{bmatrix} A \Psi \\ 0 \end{bmatrix} \frac{0}{1} \Big| \frac{1}{0} \begin{bmatrix} 0 \\ \Psi \end{bmatrix} = \begin{bmatrix} A \Psi \\ 0 \end{bmatrix} \mathfrak{R} \begin{bmatrix} \Psi \\ 0 \end{bmatrix} = A \Psi \mathfrak{R} \Psi$$

$$\underbrace{\varphi + \varepsilon \Gamma} \begin{bmatrix} \psi \\ 0 \end{bmatrix} \mathfrak{R} \begin{bmatrix} 0 \\ \Psi \end{bmatrix} = \underbrace{\varphi + \varepsilon} \begin{bmatrix} \psi \\ 0 \end{bmatrix} \mathfrak{R} \begin{bmatrix} 0 \\ \Psi \end{bmatrix} = \underbrace{\varphi + \varepsilon} \begin{bmatrix} \psi \\ 0 \end{bmatrix} \mathfrak{R} \frac{0}{1} \Big| \frac{1}{0} \begin{bmatrix} 0 \\ \Psi \end{bmatrix} = \underbrace{\varphi + \varepsilon} \begin{bmatrix} \psi \\ 0 \end{bmatrix} \mathfrak{R} \begin{bmatrix} \Psi \\ 0 \end{bmatrix} = \underbrace{\varphi + \varepsilon} \psi \mathfrak{R} \Psi$$